MPM 1D9 Semester 1, 2014 - 2015
Grade 9 Pre-AP Math

Unit 1 — Number Sense and Algebra — Quiz 1
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1. Matcrych term in the left column with the best definition in the right column. (8 COM)

Degree-0 Term 2 —6abcd

_fL‘/olynomlal Y. A symbol, usually a letter, which represents an unknown or unspecified value.
__g_/ Term 27 Terms that contain equivalent variable parts (literal coefficients).

f\_ Expression 2 A number that divides exactly into another.

_A v Degree-4 Term g7 7*

¥ An algebraic expression in which each term consists of constants and/or
variables combined using only multiplication (including powers).

‘/lee Terms 4. Any mathematical calculation combining constants and/or variables using any
operations except for addition and subtraction.

O{ Factor h. Any mathematical calculation combining constants and/or variables using any
— valid mathematical operations.

b Variable

/ unlike terms
2. j hich expression CANNOT be simplified? (1 KU)
1 2 _ 2 2
(@) 2x+9x (b) a+5a (c) 5p*-7p 5n -7n
3. d \/ Which statement is FALSE? (1 KU)
(@) —3a and 4b* are unlike terms. (b) % 3, and —0.7 are like terms.

(c) Like terms have equivalent variable parts. @x x> and 2x° are like terms.

Modified True/False (5 KU) ’deO Q?(aej (;{x%‘) é)

Indicate whether each statement is true or false. If false, change the underlined part to make the statement true.

Change: (608 = /440 \//

4. TIF_F' ‘)g“ (3')=6"" =6’

5 TIF L‘)ghe expression “—x"*” means “(—x)(-x)(-x)(-x).” Change: "‘X-{%YQC)(’X) \//

6. T/IF E The expression “6 — 2X” means L//
“double a number reduced by 6.” Change: 6 reduffd b}; dUMHe a ‘#’
7. TIF Féhe expression “2x+3x” simplifies to “5x*.” Change: 5'7(, ‘)(
- \/( o \)/
8. T/F _I”__ The expression “2x(3x)” simplifies to “ 6x.” Change: 69(
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10. Evaluate. (8 KU)
(b) —7a2b3—2a(a—3b)2, if a=3 and b=-2

(@) -3'-2(3*~5°)-7(3-5) 2
=-8)- R(a7-125)—7(-a) /=TI -3 [3-3D]
-81-2¢-a8) - 7¢-8) _A T 78 - 6[3-¢e)]* ’d
= 5046y -
This step shows how

= =81- (-196) - (-56) .
= -Blt1q+56 2D (81)
= 171/ = e you shoulq THEN
11 Simpli . . e T ab}‘/‘* mulFiplication.
. plify each of the following expressions if possible. Show all steps!}(16 KU) P
(b) (5a%b)(+3ab)(-6a’b)(+7ab) £ | (c) (5a’b+3ab)-(6a’h+7ab) Y%
= 5 bt 3ob+(~ba'b-Tab )

(a) 5a’b+3ab—6a’b+7ab
=507b=bo’ bt ZabtTeh = 5GYEE)7dna%a bobl
=-a*h+10 ~ oLt 2 -6ah) -

a ,-%;05 b/ = 5,2} Fabt(-6a’b) ~Tals

MOE: —-q?}o can also be This @ue&fom thl\/OK'VfS :ngb_ba'?b + ga}O - /a h yd

written =10Pb mq(’}iyj];'w'honj wl/uO;[n @ GQ} ,L;-gb
as o 9 =7
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(@) Perimeter

P: 135+ G)H%c +Q\/+ fox +"07>z\/
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